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Level 1 Functional Skills Mathematics Cltygg
SAMPLE PAPER 2 Guilds

A City & Guilds Group Business
Duration: 25 minutes Version 1.0
Total marks: 15

SECTION 1 — CALCULATOR NOT PERMITTED

Candidate name (first, last)

fest ] 1 [ [ [ [T T TTTTTTTTIT[LT]
est [ T[T [ [ [ [TTTTTTTTTIITLL]

Candidate enrolment number Date of birth (DDMMYYYY)

(Tl [T ITTT]

Assessment date (DDMMYYYY) Centre number Candidate signature and declaration*

(T 110 LTI Irrtl L i

*] declare that | had no prior knowledge of the questions in this assessment
and that | will not share information about the questions.

Please check that your name is correctly printed on the candidate barcode label. If
not, please tell the invigilator before the start of the exam.

You should have the following for this assessment:
e a pen with black or blue ink

a pencil (for diagrams, graphs and charts only)

an eraser

a 30cm ruler

a protractor.

You must NOT use a calculator for Section 1.

General instructions

¢ Read through each question carefully.

o Write all your answers in this booklet.

e Check your calculations and check that your answers make sense.
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v/ View all practice question, topic test
and mock exam attempts over time
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Q1

846.7 + 100 =

LUt
(1 mark)
Q2 The volume of this cuboid is 24cm?,
B 4cm N
3cm
Ja
What is the value for the depth d?
[-(’K FRS A = 24
d = 2 2 em
o, B 2, (1 mark)
Q3
92=
|
(1 mark)
Q4
18-5x2=
(§- (O ?
(1 mark)
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SR N S

B c D

Which of the above has an angle of 180°?

(tick one box)
A ]
B[]
c [
b [V
(1 mark)
Q6
Wirite two hundred and forty-six thousand eight hundred and five in figures
24 €805
(1 mark)
Q7
What s Z as a decimal?
(tick one box)
A 0.4 P‘i
B 0.2 ['—J
c 025 | |
D 004 [ ]
(1 mark)
4
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Q8
-6+4=
(tick one box)
A -10 [—!
B -2 [/
c 2 [
D 10 []
(1 mark)
Q9
What is the range of these weights?
40 kg 65kg 27kg 84kg 34kg
5
L -2F = 5% T w
(1 mark).
Q10 At a rugby match 19 417 home fans and 2 648 away fans attend.
What is the total attendance, rounded to the nearest hundred?
(Al ¥
26 4 < 12100
2106 5
- ! (1 mark)
’2’2 (OO Eo Nea el hundlred
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Q11 A company conducts a survey. The survey asks people their ages.

The data will be grouped.

Complete the table with the missing age groups.

Age group boundaries

25 and under

26 - 35

36-45

46 - 55

56 - gLt

65 and over

(1 mark)

Q12 A manager wants to know the ratio of men to women in their factory. There are 135

men and 270 women working at the factory.

What is the ratio of men to women?

Q13 A fair has a spin the arrow game.
A player wins a prize if the arrow lands on a 5.

What is the probability of a player winning a prize?
Write your answer as a fraction in its simplest form.

[ speces L
A

End of Section 1

© The City and Gullds of London Institute 2018
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[

(2 marks)
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Level 1 Functional Skills Mathematics Cityg&
SAMPLE PAPER 2 G o
uilds

. . A City & Guilds Group Business
Duration: 1 hour 20 minutes Ty

Version 1.0
Total marks: 45
SECTION 2 - CALCULATOR PERMITTED
Candidate name (first, last)

Fst[ [ T T T T T T T OTTITTTT T ITT]
tast| J | T T T T T I TTTI TPl ]]

Candidate enrolment number  Date of birth (DDMMYYYY)

LI COOTTTTTT1

Assessment date (DDMMYYYY) Centre number Candidate signature and declaration*

HEEEEEEE NN |

» If you have used any additional answer sheets write the number of additional sheets in this box.[l
* Please ensure that you staple additional answer sheets to the back of this booklet,

clearly labelling them with your full name, enrolment number, centre number

and date in BLOCK CAPITALS.

* You must use a black or blue pen. You may use a pencil for charts and diagrams.

*] declare that | had no prior knowledge of the questions in this assessment
and that | will not share information about the questions.

Please check that your name is correctly printed on the candidate barcode label. If
not, please tell the invigilator before the start of the exam.

You should have the following for this assessment
a calculator

a pen with black or blue ink

a pencil (for diagrams, graphs and charts only)

an eraser

a 30cm ruler

a protractor.,

General instructions

* Read through each question carefully.

Show your working out (where required).

Write all your working out and answers in this booklet.

Check your calculations and check that your answers make sense.

There are additional pages including graph paper at the back of this booklet if
you run out of space or ask the invigilator if you need additional sheets of paper.
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Recommendations

v) Your answers are analysed to
eion o Ll g determine your Current Level
currently at Level 1.5,

From this diagnostic, we think one of
the following courses would be

Functional Skills English Initial Assessment suitable: J S U g g este d CO U rSeS fO r yo U tO e n rO |
o on based on your calculated level
L Uasiove2

005 v Always know the level you are
currently working at

Start Initial AssesSMANT

Functional Skills Maths Initial Assessment

RN

v’ Determine when you are ready to
Sit your exam

v/ Explainer videos on every topic

v'  Quick-fire style mutiple choice
qguestions

v’ Test your knowledge with
exam-style questions

v, Written solutions for all
qguestions

Course Completion %

v/ See your progress through as you
progress through each topic area

v/ Get your average scores for practice
guestions, topic tests and mock exams

Previous Results for Addition and Subtraction (including

Using Numbers
16 TOPICS

v/ View all practice question, topic test
and mock exam attempts over time

27.08% Complete

v/ View historical attempts to analyse

your progress over time

Or visit

passfunctionalskills.co.uk
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SECTION 2 - CALCULATOR PERMITTED
There are 45 marks available in this section.
You should check all your work as you go along.

You may use a calculator.
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Q1

[15 24 16 18 21 |

What is the mean of these numbers?

(S4 216 +1Q 21
— = = L £.<

(1 mark)

Q2

Draw a square with sides of 2cm

I L P A iy
| 4 1 JEREY {144 =
NRTTTH M L 5
e S s e s |
for bt 4 i § iz rtl | f {
H {
2 Hyi T | | :
r ; w1 R 2 _Jl. B l St e e T, s
i Ak t4 1 !
1 : i 1 bl
i : . : i | i .
FEHE R € B i, Sy o e i
| G [ f4e 14 ! '1 {
" 5 1 ek s R i )
WP ER G RER B T [ . 51
T 1 ; E i | I3 !
i | T
T e e
i g ggwny b ! ] 1
i 3es i | i &
|- . ! 1

(1 mark)

Q3

Write 383 as a mixed number.

(1 mark)
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Q4

Which of the following lists is in increasing order from smallest to largest?

(tick one box)
A 52% 53% 50% 55% !__\
B 50% 52% 53% 55% 17;
C 55% 52% 53% 50% |
D 50% 53% 52% 55% |—§
(1 mark)
Qs
140 x = 8400
EO
(1 mark)
Q6 A student states that 540cm is the same as 54m.
Are they correct? Explain your answer.
Are they correct? (tick one box) Yes [—I No ]Z
SLfOCA" = S"q’l"'\/ Ao& gé'/l’\
Explanation
(1 mark)
10
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Q7 The formula below can be used to calculate interest on a savings account after one

year:

amount put into account x interest rate as a decimal

A woman puts £2 500 into an account. The interest rate is 5%.

What will be in the account after one year?

Show your working

L£2500s (.05 = £ 2615

625

(3 marks)

Q8 A taxi company charges £5 standing charge and £1.50 per mile for a journey.

A man travels in a taxi for 12.2 miles.

What is the cost of his journey?

Show your working

b 1.2 (-5
c 4 (8 30°=
+232. 20

pr—
-

13.%

(3 marks)

11
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Q9 A student receives two loans. One is for £9153 and the other is for £8 944,

Approximately % of the loans will be spent on tuition fees and % of the loans will be spent on
accommodation.

Estimate the amount of money they will have left.

Show your working £q ( 53 1l &ngklf’ e ﬁ: (RO O

I S

—_—

e T
e tigre = L3500

cleppo - £\Too = £ L5000
£ Soo

(4 marks)

12
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Q10 A decorator is painting a room and has one wall left to paint.

They have enough paint to cover 12m?2. The dimensions of the wall are shown
below:

4m

A
v

Sketch not to scale
+—> 3.25m

door| | 2m

She will not paint over the door.

Do they have enough paint for the wall?

Explain your answer. Use figures in your answer,

Show your working

ye3-25 T3 "
0484 = L& -

12- (.8 = (|.L ~ "

Do they have enough paint? (tick one box) Yes [:/:3 No r-;

Explanation

(4 marks)

13

Scanned with CamScanner



BDVV)XQFWLRQDOG6NLOOV FR XN

Q11 Alocal sports club organises a sponscred walk around the edge of a field.

i } i ; ' ‘ i L ) | o bl b
A 3 O e I B L
1 Scale'diagram of the field. - ... > .
1ERRE AP G R T A

Lo I, | | i : | ,‘ i Sg
el 3 . !
T 350m }

% ; :

1 i |
SRR LRREE ) ';,SC)M i (20 .1 8 il

o Field i
' ! ! ol
‘i" ey 3__,4
381108 08 208 D i 1) S } L ) e B | |
R

e LERE LT £l | f ! 2w I

Each person will walk round the field 5 times.

How far will each person walk in kilometres?

Show your working
RSO €23 O = 0O m
(o L= (L3P0 A .
1200 < § = £E0OD 4,
&l

ékm

(4 marks)

14
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Q12 A cricket club sells 5,062 tickets for a charity match. 3,484 are Adult tickets and the rest are
Under 18s tickets.

Ticket Prices

85% of ticket sales pay for the event. The rest goes to community projects.

How much does the club give to community projects?

Show your working
Adulbs D 3GZhxle =62F(2
Ghigd: 5062 - 3k &l = [5%C (538~ £l2 = (¥ .

§2¥\893¢ = D6k .
ggﬂ/a %e o evenk ) [S'o/e {° & o MM'-LAL‘(""‘—- .

ClLdx06 1S = L1WT. 20 £\22k1-20

«

(5 marks)

15
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Q13 A gardener needs to buy compost to fill this tub.

The diagram shows the dimensions of the tub

Diagram not to scale

0.5m

0.25m

1.8m

They buy compost in 50 litre bags

1000 litres = 1m?

How many bags of compost must they buy?

Show all your working
0.6x\.8x0 .25 0225,
=225 Ghres
135 258 & de B
Need S brgs .
Number of bags S

(5 marks)

16
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their scores:

Present these scores in three suitable groups

15, 24, 6, 8, 29, 6, 12, 17, 24, 22, 25, 30, 18, 3, 11,7, 18, 27, 28, 27

Q14 20 students take a maths test. Their tutor records the scores. The list below shows

O —10

@(-—30

6. & &3+
(1-20 + \S, /2, 0% 081,18

© 24,24, 2,722, 25, 2%, 28 TR

S
4
9

Present this information in a suitable chart or graph.

: i ox ! 5o Moo I

”‘ = 2. 4 LA 0 O s B, R G t__ s H e SIS 4 ¥ -t
1‘ 3 e 1 VT ]

i | 13

' '} HEER)
" wie | |
. |

? & ewy g pa g W BB T 045 3
{- . :
| 5 v e
<l yEE s i i
% + % & i i e
| i | l
q ] ! ri
t | - !
| | |
3 T S m: ''''' T N L [ " ”’ "":‘" =
N sl el enicholi kol o tinat it S |
| ! |
§ ¥ |
e i 8 V] 1 N
©-10 (-26 L\ 30

(2 marks)

There is
spare
graph
paper on
pg 21

(3 marks)
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